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09100000 L -{untDp
1 09132200 Fthqlrl, nhqmlurp qz thtnn 5i0 1000 510000
2 9132200 FhhqlrL, nl<;1lrluqr q2.

Lbuu 490 1000 490000
3 09134200 UrqhLrLtlrt LlunL,LbB q.l Ul..f' 540 4000 2160000
4 913'1200 'rfqt,1LLL1fl {Lunh gp Lh-p s30 4000 2120000
5 9r3,1200 1fqt1u1fil rlurntgp rlJIF s30 10000 s300000
6 9411710 UtrplLlurb FhuLLlurh qruq qq 290 7586 2200000
7 9411710 Ut{Lfilurb phur\urh qurq riq 290 7000 2030000

9,11iTIi) UhqLI{ub piru\ruL qurq qq 284 7590 21sss60
16711200 1.2 Q;n upuurtr ur t uur\ uh rltpthurhhp

l 1671 1200 T 170 LLuuqf hbg urpurLlrnnl uu htuLn 997000 I 997000

16800000
1,3 qgnulurutntuur\urh h urirururnurl|rh uhurtunrp3ruh
u LuppuLlnpnr Jltp L rLLuppLu rjn lorrtuLlfr rluru h1

16311400 tunuhLa.IU uu hruur 55000 1 ss000
16311400 tunurhbdlr2 uu hur-n 14500 7 101500

3 16811100
q3nu1u:tnLtnhuu\ruLr uurppu{npmLlLhp}r Llurutp (]unurhtra.f 2f
tlunt1urjm4)

ql ll.r1F 2000 20 40000

16811100
qlnq ururhurhuur\url uurppur{npmrlLtpf rluuhp (lunLnhtr&f 2f
hhatlt thul1)

hurLn 1700 47 68000

5 r 58t 1100
qlrulLuurlurtiurlr\urL uuLppLLrLlnpnLrttrtpfr rltLruhp (]lnLnhhd.lr$

P ttL)
ql hurln 2300 15 34500

6 16811100
q3 n uluL rnttn huu\urh uurppur{npnrLlbhpf urutp (lumnhtr&lrjt
rlurhutll) hutn 3000 20 60000

? 16811100
qSmrluuturtuur\urfu uurppurr{npmrlhhpir rlurutl (lunr.nhtr&btr
u.lnr.uqul, hurtn 1700 25500

16811100
qlnrqtumhutuu\u.rLr uruppru{npnrLltrhpfr rturutp (]unLnhL&]r1]r

ptlr hurrur4\ur) hruur 2000 10 20000

3435r 400 1.4 llltLlu4rnhp
34351400 hurlluruliqnlLqlrh uhqurlnt 16.9-28 Lpul.tuLtlurnp (TEREX) hurtn 265000 2 530000

2 343s1400 hur|luubqntrurjhL uL{u4nq 12.00 R20 (qtb4bn) hurn 150000 4 600000
3 34351400 I ruLlurubqnL r;lrL uLtrLjrLrryrq I 1.00 R20 Lhur urqt hurrn 134000 2 268000
4 34351400 hLuJuruhqnhurlftr rr,Lr [ruryrr19.00 R20 .91.1_ 1r0 hurrn 97000 6 s82000
5 34351400 huLILLr.rLcnLull,h urL [Luryrq 8 2s R20 rqU9-53J hruur 80000 160000

18100000 l.s llurubuqhLnLullurtr huq:r uur. huurnr\ urpuuhLuqorurn L qupurqurhlp
18141i00 U2lu ru r,ruLLLprul ]rtr d.tnlrnotLhp 9nLlq 200 1000 200000

2 181.11 100 U2lu Lu ur LLiLprullrl aLrrhnchtrp ql 9nL t!+ 1000 10 10000
3 1E111100 U.prluL4pur\rLLL hutrnnl\ hurqnruur uu hulLn 15000 66 990000

30100000
1.6 Qpuruhhlu\ur;|rh rltphhurtrtp, uurppu'{npmrlhhp h lllmptp' Furguntrrfd1u ! hu^Iur\upq}rjrtp}r, 

'rq}r2trtpfr 
h

bu.*mrph

1 30192232 U!r)u Fqrdh (4htbh) UU hulur 750 13 9,75



2 30192232 ULnr prroh (+tnhh) FLU t_ru hurur 450 r0

3 30192125 LIurp\tphhp clz hurLn 200 20 4000

I.7 Lrt\nnu\ufulr raluL pu2luJub L {tpubu\ uL uuppu{npnr tbp
l 31588100 .{rrllur! uulnh tlnuuh unnurphh tlnhururdh 2tnLphtn hurrn 500 100 50000

2 31588100 qr.ur4ruh ulurr.[h r.lnulh uLnu'rurBhL LlnhuruLdh LIhu,rrLrtn q2 hurm 300 30 9000

3 3i5881u0 .{urnnu.Ll ,rlurLnh rlnurth LLnphL rln-ruurdh Lnl|lLLn q2. hurLn 750 30 22500

4 31588100 .{tun+LuLt rrururh rlnrullr hhpplL Jnhurudlr rlftupLrtn qt hulur 500 100 50000

5 31211221 ULgurmh) lunl.rrrLtphL LlntrLrrurdh hLtntlurbh htuur 350 50 17500

6 3t211221 Utrgu.ur]r2 uupuruLp[L LInLrurud]r L1L\LntrluLtrir q.t hurul 550 30 16s00

7 3121122r Uhqtuurh> Lrhnphtr nlLnudh tl1trrbnubh hurul 500 50 2s000

8 31211221 UhgLuLnfl Ltppftu nL-nurdf Lp!LnLquUp q2 hurln 650 30 19500

9 31211180 UrlurnrJu.r r.n uLhpurrnh) hu$urq 25A hu:rn 900 50 45000

10 312r 1180 ULlu' nLIurLn rlblurLnhr tlhur$LLrq ]6A hultn 1000 30 30000

1l 312I L 1rJo Urltnnr{Luur urLguurlr) huLburq 32,{ q2. hunn 1000 60 60000

12 31211180 ULlrnrrLlur ur LL,Lru,mlr) LthruSruq 40A huLn 800 80 64000

13 31211180 Urlurnrturur urtgunnlr; lru.r$urq 50A hurul 900 50 45000

14 31211180 U{urn uLur urhgururfry dfru$Luq 63A q2. hurLn 1150 80 92000

15 31211180 UrlurmtuLn uhgururlry hnu:$urq 80A hurlrr 14000 50 700000

31211180 lhlrnn unn urhgurtn]ry tnur$mq 100A hurrn 15000 60 900000

1.8 l"nruurlntrlub uuppLp h dL!upru\uL lur ulLp

1 31531300 uLrlq l2w qt
qt

qz

qt
qt

huLL'l 400 150 60000

2 31531300 uriut l5w huLn 150 75000

3 31s31300 G4 ur L! 18w hruu.r 800 300 240000

4 31s31300 ir] urrlul 30\\, hLuLn 900 1500 1350000

5 31531300 Et] DLtlurulnl 100w hruur 12000 150 1800000

6 31531300 ntuuurm 50-60W hrurn 7200 1s00 10800000

7 31s31300 LLq I-nruu.runr l2W hurur 2000 2 4000

8 31531300 bt tmuurndruh 30w hurtn 7000 50 3s0000

9 31531300 h4 lnruurp&ur\ 20r' hruur 4000 20 80000

10 31531300 t4 lrluurJrdu! 100\v huvr 13000 30 390000

1.9 t--th\nlu\urh uurpptp L uurpprur.lnpnt hhp

1 31651400 Ut\nLuf y duulutlhhhtn (hqnrtLu) hurur 200 550 110000

2 44521234 I-unh uLlnurtt UhnLuttuL 1,5 url q2 huru'r 4 4000 16000

3 44521234 l-urplr urripur\ U\nu1\uL 2.5 LrLl hurur 4 4000 't6000

44511250 znuLLrLpf rrl,rlJ[2 hurL'r 10000 30000

5 31681100 L1h\urpu!uL ulupuqurLrLp (.Qpl1lr 2fhu 6 uLqurhnc) ql hLtLr,.r 100 600 60000

6 31681100 l--tL! urttut! urh L!urlurgrrhtn (uL{u}n urur uLhqururh>h phpLnl q.: hL.Ip 150 300 4s000

7 31681100 LyL\npur\tth rqupurgrulhp (quupnt \tpu ftluqfc) qt hurn 150 200 30000

8 3168i 100 T 1L11rn1ru\urtr qurpurqrrrLrl,p l-tqf \Luurnp) hLuur 200 t2 2000

9 31686000 tullllg unqnFurtttllL (qbL\ut hruur 2s0 200 s0000

10 31711160 L1t\tnpl4 3dLI lnnrqr 4000 240000

11 31681100 hlL\urpu1\ulh uturpuquhhp (Fudurhfy 10 \! p,rras3-10/1) hutn 230000 I 230000

12 31681100 CtiUu,t'!\ul' qLutu'qu'i'h| (u'l'gnut'u lrl' 'lLUnlulr) 
l0 ULL{ny l0/630 7,5F!) ql hurtn 27000 3 B r000

13 39831275 Urluulrlurortuh uu.rpp Lltp2Lp q2. hurur 280000 I 280000

t4 31151170 Uiupur!nqtrtpf 1 fropur!nlh>htn hurLir I15000 I 11s000

15 42631160 puuryrqlipir o4Lqfrb gmppf llurtnnp ql hurur 140000 1 140000

4212r 150 1.10 ah 
'rthp

4212tt90 2fb u] irqtl UU hL.n 93000 3 279AOO

2 42121190 2plt Lrln qtl hulur 14000 3 14000

39800000 1.1 1 Uulpltul h +urltgban urpurur4purlp
l 39836000 ULJhI unqnDurLlurtr uu hutn 1200 200 240000

2 19641000 'llnthkphlhhurlbh qulrh ur! pb hurJurp q2. ttq 750 4000 3000000

39200000 1.12 \urhur{npurtrp
3 3921r250 Oumtlb rltpurul (ut\ur,'Inl) hurur 2500 8 20000

5 39221333 .}nLll riLtrlttlq[ttlurh q2 nulln 1s00 40 60000

6 39241250 Oinupl, \purn iutLlurLnnp TrrgnL$ pLLpnq, hurLn 10000 20000



I



50 44 t70000 qLuLnbpqur L'InLrh 1500 1500

51 4,1411300 rlrrglunrl1Lr huln 20000 20000

52 444117 40 9nqurpurtur\nhp hurL'l 35000 35000

53 44411741 9nrqurpurhur\nhpfr prlurh huln 2000 2000

44411760 amqurpruhf pqplr pnturu\ hurur 2000 2000

55 42130000 u^DIurLl huru] 6000 6000

56 42130000 o"FrLL\ qitn+nLLl luqnlluLtl dL1r1F I300 0,6 1300

57 39716100 hunru\lr gtnmg urt L1t\urpur\urh uurppur{npmrihtp u/2 20000 20 40000

5B 4122tt40 4nLtp q2 hulu 70000 I 70000

38621200 huqtflrttp hulrn 10000 1 10000

60 44423690 'lfruruhnp tp\urpptunl.rt huln 40000 5 200000

61

44300000 1.14 Uurprluhtp, tuurrlurluptp h hurpur\|g u.rpurur4purhBhtp

31321290 Lit\npu\uL prp 1'16 rlhurl 90 6000 s40000

2 31.321294 L1t\upuLluLL 1u1 1'16 tLnp 90 9000 810000

3 31331100/1 t tb lt LJr n L! lt L!! tur n 2r16 Un.{ dhlnl 360 2000 720000

4 31331100/',2 ttbqulnuJl.tu! lLL.rn 2*10 t url 270 3000 810000

5 31331100/3 Llt\upur\urh lurp 2-2,5 JtLnl 90 500 45000

6 3I33I100/4 llt!r,rpur\urh lurp 2'2,5 qt rltLnp 60 2000 120000

6 31331i00/s tthttmnttlLtulh truII 2'2,5 dhulp 90 2000 180000

7 31321280 l-tl\urnur!uLLr 1Lu1 l'10 U1..1. dtlaF 90 2000 180000

8 31331r 00 hih\rntru\urt Llrlt 2'16 UI.n LIhrnp 320 2000 640000

9 31321270 L1L\urpulltu[ lurp 1'06 q2 rltr.np 70 1000 70000

10 44310000 U tururprlug 3 J qq 550 200 110000

ll 44111146 lLtLurulurh rltLlnru!2 bqur1uunp hurur s00 450 270000

12 3133i270 LurF q rbdt 2'1.5 rlturF 165 s00 82s00

13 31331270 Llup u11lrhi.t 2'4 9pp tul 600 300 180000

l4 31331280 1up qq$r&t 2'2.s LItr,rp 240 600 144000

15 31331280 lLup qqlrLd.t 2'2.5 tt lnp {hr.np 390 2000 780000

I 44500000 f. i5 qnlblrpLtl, qrur\urtrtrtt, purtrurfrttl, \urlubfhhF, urilurglun ltrnurlLtp, 2rtFurhhl tr ququilur\htl

2 31221240 f hpiturulurmLnur\ (Uullurntq) 1,5uri hulu'] 5 6000 30000

3 31221240 frbpLuqumurru\ ( Uurdruntq) 3.5u q2 hulur 5 2000 10000

31221241 'I1n rp t1 2nrnnrul hruur 6 3000 18000

5 44420000 :f L'u0urFnLFlu'tr'Jtr oquuqntbqnn uruttubp (qn+nththJtuutLu\h) hurrn 30000 2 60000

44420000 6l!ruf rutnLFlLuL rJhz oqlnuqnpbqn{ uu]lruLp (Llurlu'q) hrutn 290 10 29AA

7 115r1343 qutltr\nt (nurpt4b4) 70-80u tp\. i8 tiI hururnmplmlr huln 4000 ? 8000

8 44511343 qutltr\nL (nLqu0 tulutt 15-20J hruur 4500 20 90000

9 44511343 Quq [r\nh pLurntrfr hurtttup hulr.n 2000 5 10000

10 445113,13 au3$\nir tp\urpt qz htuur 1000 33 33000

11 44192634 Zhl]trLu qq 650 5 3250

12 441.92$A ql4n1u\ (ranxa) LIq 750 5 3750

44531220 SuLfoqLu\btp (uran6a) qs 800 5 4000

l4 44511200 lhnpf urlngLtp hurur 2000 8 16000

15 14423240 Luutabd|tlh Fugn+ 4,20 r.l huln 35000 35000

16 44423244 uruLnlrdurL purgnLlf 3,20 ri hurm 25000 25000

t7 .1.1511100 ulhp{.bpuLrnnp bzhL ru+ulr hu1L1 40000 40000

t6 44511100 Uh\1nttruh4\f ; (trurpurp\ur) uhlup hulL1 60000 3 180000

19 44511330 tlurpLn\nguqlrh hurpr{urburlhh qumrtrrruqur4up&hl huur 36000 3 108000

20 44521190 purLrLL,frt tpf lrnJqLhlrLn hu]rn 2s000 4 100000

2T 4,1521190 qLurLu,&L pubru$hhplr \nrftq1t\rn hurul 25000 4 100000

22 44521190 tunlnLluL\fr puLhru$ 2 ryrrlri huIJ1 8000 2 16000



23 44521190 purtru*! Frugn+ (nulqquqtnt hu.rr,n 4000 2 8000

24 44511330 ul Uln L ururq ur\ urf ah > hurur 1000 2A 20000

25 44511110 Furh uqqtqnpbu\urtu hunn 1000 10 10000

26 4451 I 110 truh hb 1500 l4 21000

27 445111I0 trurh pLurntrf huur 1000 IO 10000

28 44511130 U;qtqnpbur\ut tqruthhl qn:nq huln 3000 10 30000

29 44511130 t{luL r{n)nq hurur 2000 10 20000

30 44511110 Furhlr qn1 hrurn 1100 30 33000

31 445r1170 Ongiutf r{n:nq huru 2000 6 12000

32 44511240 rnul+Lu\ulFliFrrh urpgurh hurur 2000 12 20000

33 14511244 urpgutr (!nrur.rr$ur) hruur 2000 12 20000

44511274 Umpdtp($npp) huln 2000 2 4000

35 445rr271 Umpdhp({fgftt 2ut$ft) gl hulur 3500 2 7000

36 4451r272 UupdLp(ltb \{urp) huur 9900 1 9900

37 44511224 SuLpurLn Luu\ a.L npf qnldbphtl (ln unqnlLI\LUL' hu1ul 6000 2 12000

38 445tt224 Supur,rtuur\ d.tnpf qnpblrphtp (mpuq) hurLn 2s00 2 s000

39 44511220 SuqrurLntuur\ &hnpfr qnlbfplhp (rlurtqfrln{\u Lthb) hu.rr,n 4000 2 8000

40 44511221 Surpururhuur\ dtnpf qn18|rptrtp (tfu:L4ltpn{\u +npp) q2. hLllrn 3000 2 6000

41 445r1224 Srulr.rtnl.Lrurll nbnpf qnpbf pLLp tJrtlul huru 1000 2 2000

44511220 curpLu -n Lu ur\ alnplr qntbhpL Ln {qnr thl , hul.n 1300 3 6000

44511220 Supururtuu\ dtnplr qnp8|rptrtp (u{urq} uSnp\u) huru 500 10 5000

14511.220 Sruf urL'ltuurq d.Lnph qrpbf pLLp (Lltrnuqur\urh 2ttur\) huru 400 5 2000

45 445r1220 Supururtuur\ &hnpfr qnptltpttp (t{u$!) hul1n 1000 6 6000

46 44511224 Surf lmhuur\ alnph qrlbfrpLLp fu{urq LItuqllnL du,rl) hr-urn 5000 1 s000

47 44511220 SurpurrnLuur\ d.Lnplr qnpbbpbtn hlur$\b q u+bt) q2 huln 200 30 6000

48 44511220

3373r 200

SurpLuurLLrurLl dtnplr qnpblrphtp (4tpdturnLl + ) hurur

hurur

2500 4 10000

49 'rIuL2nqurh]r: hururnr\ uurngthp 600 1200

50 445 i 1330 huru 9500 2 19000

51 44511400 snrbhpLbpb rl|tlubp (Lu!\nLLuhrlrhrb qNu{hF h{\u'rdtnPnq) hruur 500 30 15000

52 44511400 lnpbfrpbhpfr Llurutp (u-LbqnrbLuha\f:h q u rahf $2nLn Lrh2hL :LtL+) hulur 700 4A 7000

53 39240000 lilnlnr qnrbhp (urd|uq |uL'lru\h qtnnnrD huru 2500 2 s000

39240000 qtnrnq qntbf p (LIbu.',nrrqLuunf dL'n!uul hul,r 2500 2 5000

55 39240000 qntnq qnfbhp r2frtrLrtr,FL qu! luL'!l.t) huln 500 15 7500

56 ,14511370 qnIdf prrb t h atLrLILqfnL\ hu.rr,r 8000 2 16000

57 44s00000 dLInLt tLnuqu\u1r hu.rur 3000 8 23000

58 44500000 cLrn\ qn$ipfybhursflr rnn+ r300 5 6500

59 44423610 urtlnusnrnq duutu'ltlr huln 2500 15 37500

60 446i1400 un\qbr hurur 7000 10s000

61 44100000 cfLLururtuqLuL LJntPtp h uLputLu4purbp ($ptholt 2htuu'FLufr.ul.turlt) hurur 2200 30 66000

62 44100000 cfrupLupur\ulr LlnLpbn Lr LuFr.nuttuhp (qnSft l6 LI) q2 dkL'ln 50 150 7500

63 44100000 ch!uLf!upluqlur hlnlrltF I unLnutpurtp (qn$rt 20Li ) tup 90 150 13500

44100000 cf1-rurpLupru\ub blnrptp tL LupurutpLubp (qn$pt 32tl ) rltul 280 50 42000

65 44100000 cf!urr.ut!u\urb LtnLFtn Lr LunLnluarutrp (\nnn+ 2'j ng) hurn 400 100 40000

66 4452tt70 9nqqbpLtp hurrn 1000 100 100000

67 44111439 t bpI hhrlnL\'Ishp LnurpuqnLl huln 1100 30 33000

44100000 ch!!ufuFLu\|uL bjnLrdht I r.uFLnu]r]ruLp (+:nqh B|u0l, \Lb) hmrn 1000 30 30000

69 44100000 cf!Lut!ufLuqur LlnLrlbp u urpt,ru4putp (Uf $llnrf !uLnfdtL'!urll) hurur 2000 5 10000

7A 30192233 uh$\nb (hLb\uluqt.Lb tuutfdu!utlh h!uJuf) hurn 90 50 4500

71 30192233 ui$\n! hurm 1500 20 30000

1 2. Uurnurlmplmtrtrkp

2 65310000 l- 1t\trrpurLtrLpqfrurllr riuu u Irup ru Jrnr rI uu 4Furd 10000000 10000000

3 72411000 htrnulfrL \urqf urpur ru4pmri uu 4purri 96000 96000
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